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AB Q101 Additional Practice Problems

Part I.

A. Write the function without the absolute value symbol (put into piecewise format)
B. Graph the function.
C. State the domain and range.
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A. Graph the function. ' 3 -X g X< 3

B. Indicate the coordinates of any key points and clearly label any asymptotes.
C. Write the limit statement(s) that expresses any asymptote,

5]6 4
10(x +1) -
5. = L/U."] 4
&%) (x—2)2(x+3)2 !
6. hy= 5oL o (®r D=1
xz-—g - (xk%)(X‘5)
7. h(x)=—"

x(x -1



.................................

Ao b

................

..........................

........

FISSURN e Tl LT L U T VL Ay N A [

................

Ferrrdrarad

PN BT

......................................

............................




?;%ﬁﬂjx‘“y’frtﬁﬁiﬂiﬁ svet (=1,0) Bownce
Pl e (0, T)
/“i{ 4 /{ JOUNE OO VO UL PO SO WO A V-A i X =2 even

A i X=73 even

Y
-3
S
5]
=
S
o
@
=
o,
=

i N o -
12-1u—=_- z -_I ~w i ] :' H».{-} ; j pi¥y ,'M 3(59 =i &
l_}.f} f,)uft R
No Belavit acy) = o at X = -1
b CrYy = oo
g V.A

X7

LS R A A 0 x5 = oo
00 B L

AN N N
T R T T T e sy - (10> (=1, 0D
et e g (00 )

RN :::j:[::: L T T D € S
N R I\ : (= add

;mﬁ---—— = | Hrpr ' .3-;) N L(;) = f

>(-) +ie

T A pune 4es pore WOF |
. : B R RPN
“ﬁﬁ:'"fWW“$i:pﬁ~ﬁjf!

g |
et

e N - . _ L ]
-+ R WAy mo [l hea=o g4,
Lt - N N N ; Nt puse
Y e IS MU B A & ¥
bbb FEUIN oS TS SO S 1 OO . (x) = O =
.......... \\ g
--------- ' PM L(}(-) o -0 /ﬂ,-—\ l\(x) ol 2
i X2t ! X ot
{n A / [
' = 2 ' - = ud
bk o i” O o Lory




x-1
¢ fm)- —

Y2 20 and 7-X >0
X292 and  x<¢9

FX& [2, 7—)\

q ) A X _ 2 x
q(xys —— —_
‘ (J X —~3x-28& (X=TUX+y)

m or "‘;)i?_éﬁ {“Uz‘:li(;lg ‘1) U(*-;/ oo)\:

— —

[o( x+3)
lo. htxys =22 x> -2 and x# |

L/“(%ﬂ)l
T
(X-H):'?‘ 'XC-G}/I)U@M))
/XH(‘—Z
A+ = oo XEV LT =2
x =) or Vo= -2
H’ /(X): Cot x
—x

Sinzo he w=TH )L/;%,u;aja
X< O

Lfk € (“W/ D) and X # -k /‘J‘-"\(’,‘Q./M a whole hu’“bﬂ’fw




